PRICE PROPOSAL FROM UST

KILLEEN-FORT HOOD REGIONAL AIRPORT SECURITY SURVEILLANCE IMPROVEMENTS AT ROBERT GRAY ARMY AIRFIELD. RFP 19-10

	SECURITY SURVEILLANCE IMPROVEMENTS AT ROBERT GRAY ARMY AIRFIELD		UNIFIED SERVICES OF TEXAS, INC. 2110 GREENBRIAR DRIVE SOUTHLAKE, TEXAS 76092			
ITEM	Reduced Scope QTYS	UNIT	DESCRIPTION	UNIT PRICE	TOTAL PRICE	
	BASE BID					
1	1	LS	MOBILIZATION	\$423,023.50	\$423,023.50	
2	1,800	LF	DIRECTIONAL BORING, 1-WAY 2"C POLYETHYLENE CONDUIT	\$36.10	\$64,980.00	
3	17,500	LF	DIRECTIONAL BORING, 1-WAY 4"C POLYETHYLENE CONDUITS	\$39.00	\$682,500.00	
4	1	LS	SPLIT-SYSTEM AIR-CONDITIONER, COMPLETE	\$6,826.89	\$6,826.89	
5	1	LS	LOCKOUT/TAGOUT PROCEDURES	\$16,064.00	\$16,064.00	
6	2	EA	EXISTING CAMERA POLE AND FOUNDATION, DEMOLISHED	\$987.05	\$1,974.10	
7	0	EA	EXISTING CAMERA POLE REMOVED, FOUNDATION TO REMAIN	\$1,413.13	\$0.00	
8	6	EA	ELECTRICAL CIRCUIT FOR BUILDING MOUNTED NETWORK LOCATION, INSTALLED	\$2,742.26	\$16,453.56	
9		LF	REMOVE EXISTING AERIAL FIBER	\$1.13	\$0.00	
10	66,900	LF	NO. 10 AWG, STRANDED, 600V RATED, TYPE THHN/THWN-2 CABLE, INSTALLED IN DUCT BANK OR CONDUIT	\$0.88	\$58,872.00	
11	125	LF	RIGID GALVANIZED STEEL CONDUIT, 1-WAY 1"C, MOUNTED TO EXTERIOR STRUCTURE	\$29.91	\$3,738.75	
12	13	EA	TRAFFIC-RATED, PRECAST CONCRETE HANDHOLE, INTERIOR DIMENSIONS 2'L x 3'W x 3'D, INSTALLED	\$3,210.75	\$41,739.75	
13	44	EA	TRAFFIC-RATED, POLYMER CONCRETE HANDHOLE, INTERIOR DIMENSIONS 30"L x 17"W x 24"D, INSTALLED	\$1,540.40	\$67,777.60	
14	20,330	LF	NON-ENCASED ELECTRICAL CONDUIT, 1-WAY 2"C, INSTALLED	\$25.88	\$526,140.40	
15	1,500	LF	NON-ENCASED ELECTRICAL CONDUIT, 2-WAY 4"C, INSTALLED	\$45.78	\$68,670.00	
16	14	EA	10-FOOT CAMERA POLE AND FOUNDATION, INSTALLED	\$4,901.47	\$68,620.58	
17	8	EA	20-FOOT CAMERA POLE AND FOUNDATION, INSTALLED	\$7,827.40	\$62,619.20	
18	1	EA	19 INCH EQUIPMENT CABINET, INSTALLED	\$3,881.28	\$3,881.28	
19	2	EA	KVM SWITCH, INSTALLED	\$8,227.42	\$16,454.84	
20	4	EA	NETWORK CABINET UPS, INSTALLED	\$1,607.80	\$6,431.20	
21	53	EA	FIELD NETWORK SWITCH ENCLOSURE, INSTALLED	\$1,252.39	\$66,376.67	
22	28,200	LF	9/125 MICROMETER 12-STRAND SM INDOOR-OUTDOOR FIBER OPTIC CABLE, INSTALLED (SPOKE AND MID-RING)	\$6.03	\$170,046.00	
23	40,000	LF	9/125 MICROMETER 288-STRAND SM OUTDOOR PLANT FIBER OPTIC CABLE, INSTALLED (RING)	\$9.65	\$386,000.00	
24	53	EA	FIELD NETWORK SWITCH, 4-PORT, INSTALLED	\$825.90	\$43,772.70	
25	1	EA	FIELD NETWORK SWITCH, 8-PORT, INSTALLED	\$997.40	\$997.40	
26	2	EA	CORE ACCESS LAYER SWITCH, INSTALLED	\$5,745.20	\$11,490.40	
27	2	EA	CORE FIBER SWITCH, 48-PORT, INSTALLED	\$26,167.07	\$52,334.14	
28	2	EA	CORE FIBER SWITCH, 24-PORT, INSTALLED	\$25,932.39	\$51,864.78	
29	0	EA	WIRELESS NETWORK LOCATION, INSTALLED	\$16,721.11	\$0.00	
30	101	EA	CAMERA LOCATION TYPE C01F, INSTALLED	\$1,966.60	\$198,626.60	
31	26	EA	CAMERA LOCATION TYPE CO1P, INSTALLED	\$5,030.29	\$130,787.54	
32	5	EA	CAMERA LOCATION TYPE CO3F, INSTALLED	\$1,896.41	\$9,482.05	
33	0	EA	CAMERA LOCATION TYPE CO5F, INSTALLED	\$1,966.60	\$0.00	
34	1	EA	CAMERA LOCATION TYPE C05P, INSTALLED	\$5,018.59	\$5,018.59	
35	1	EA	CAMERA LOCATION TYPE CO6P, INSTALLED	\$5,018.59	\$5,018.59	
36	0	EA	CAMERA LOCATION TYPE CO7F, INSTALLED	\$2,739.46	\$0.00	
37	1	EA	CAMERA LOCATION TYPE C10F, INSTALLED	\$1,895.51	\$1,895.51	

		SECU	JRITY SURVEILLANCE IMPROVEMENTS AT ROBERT GRAY ARMY AIRFIELD	UNIFIED SERVIO IN 2110 GREEN SOUTHLAKE,	C. BRIAR DRIVE
38		EA	NVMS CORPORATE LICENSE/SOFTWARE, INSTALLED	\$2,094.09	\$0.00
39 17	74	EA	NVMS CAMERA SOFTWARE LICENSE, INSTALLED	\$425.07	\$73,962.18
40 2	2	EA	NVMS MANAGEMENT SERVER, INSTALLED	\$25,750.17	\$51,500.34
41 2	2	EA	NVMS STORAGE SERVER, INSTALLED	\$15,428.10	\$30,856.20
42 2	2	EA	NVMS SAN SERVER, INSTALLED	\$17,267.76	\$34,535.52
43 2	2	EA	NVMS DOMAIN/ACTIVE DIRECTORY CONTROLLER, INSTALLED	\$3,757.17	\$7,514.34
44 2	2	EA	NETWORK TIME SERVER, INSTALLED	\$4,585.89	\$9,171.78
45		EA	REMOTE VIEW-ONLY STATION (ARAC), INSTALLED	\$5,091.93	\$0.00
46		EA	REMOTE WORKSTATIONS, INSTALLED	\$6,806.91	\$0.00
47 3	3	EA	COMMAND CENTER WORKSTATION, INSTALLED	\$10,368.33	\$31,104.99
48 1	1	LS	FURNISHINGS ALLOWANCE FOR VIEWING/MONITORING STATIONS	\$20,000.00	\$20,000.00
SUBTOTAL - BA	ASE BID				\$3,529,123.97
		ADD	ITIVE ALTERNATE 1A - RUNWAY APPROACH VIEWS (NOT AWARDED)		
A1A-1		EA	CAMERA LOCATION TYPE C01F, INSTALLED	\$1,929.95	\$0.00
SUBTOTAL - A	DDITIVE A	ALTERNA	TE 1A - RUNWAY APPROACH VIEWS		\$0.00
		ADD	ITIVE ALTERNATE 1B - RUNWAY DEPARTURE VIEWS (NOT AWARDED		
A1B-1		LF	DIRECTIONAL BORING, 1-WAY 2"C POLYETHYLENE CONDUIT	\$36.10	\$0.00
A1B-2		LF	NO. 10 AWG, STRANDED, 600V RATED, TYPE THHN/THWN-2 CABLE, INSTALLED IN DUCT BANK OR CONDUIT	\$0.87	\$0.00
A1B-3		EA	TRAFFIC-RATED, POLYMER CONCRETE HANDHOLE, INTERIOR DIMENSIONS 30"L x 17"W x 24"D, INSTALLED	\$1,568.73	\$0.00
A1B-4		LF	NON-ENCASED ELECTRICAL CONDUIT, 1-WAY 2"C, INSTALLED	\$34.55	\$0.00
A1B-5		EA	10-FOOT CAMERA POLE AND FOUNDATION, INSTALLED	\$4,136.74	\$0.00
A1B-6		EA	FIELD NETWORK SWITCH ENCLOSURE, INSTALLED	\$1,252.39	\$0.00
A1B-7		LF	9/125 MICROMETER 12-STRAND SM INDOOR-OUTDOOR FIBER OPTIC CABLE, INSTALLED (SPOKE AND MID-RING)	\$7.50	\$0.00
A1B-8		EA	FIELD NETWORK SWITCH, 4-PORT, INSTALLED	\$1,015.45	\$0.00
A1B-9		EA	CAMERA LOCATION TYPE C05F, INSTALLED	\$1,929.95	\$0.00
SUBTOTAL - AI	DDITIVE A	ALTERNA	TE 1B - RUNWAY DEPARTURE VIEWS		\$0.00
			ADDITIVE ALTERNATE 2 - RGAAF APRON VIEWS		
A2-1 97	70	LF	DIRECTIONAL BORING, 1-WAY 2"C, POLYETHYLENE CONDUIT	\$36.10	\$35,017.00
A2-2	9	EA	ELECTRICAL CIRCUIT FOR BUILDING MOUNTED NETWORK LOCATION, INSTALLED	\$2,729.55	\$24,565.95
A2-3 20	000	LF	NO. 10 AWG, STRANDED, 600V RATED, TYPE THHN/THWN-2 CABLE, INSTALLED IN DUCT BANK OR CONDUIT	\$0.87	\$1,740.00
A2-4 16	525	LF	RIGID GALVANIZED STEEL CONDUIT, 1-WAY 1"C, MOUNTED TO EXTERIOR STRUCTURE	\$16.80	\$27,300.00
A2-5 7	7	EA	TRAFFIC-RATED, POLYMER CONCRETE HANDHOLE, INTERIOR DIMENSIONS 30"L x 17"W x 24"D, INSTALLED	\$1,903.19	\$13,322.33
A2-6 40	00	LF	NON-ENCASED ELECTRICAL CONDUIT, 1-WAY 2"C, INSTALLED	\$25.88	\$10,352.00
A2-7	9	EA	FIELD NETWORK SWITCH ENCLOSURE, INSTALLED	\$1,252.39	\$11,271.51
A2-8 48	300	LF	9/125 MICROMETER 12-STRAND SM INDOOR-OUTDOOR FIBER OPTIC CABLE, INSTALLED (SPOKE AND MID-RING)	\$7.50	\$36,000.00
A2-9 9	9	EA	FIELD NETWORK SWITCH, 4-PORT, INSTALLED	\$1,015.45	\$9,139.05
A2-10 2	21	EA	CAMERA LOCATION TYPE CO2F, INSTALLED	\$1,929.94	\$40,528.74
A2-11 5	5	EA	CAMERA LOCATION TYPE C02P, INSTALLED	\$4,739.58	
SUBTOTAL - AI	DDITIVE A	ALTERNA	TE 2 - RGAAF APRON VIEWS		\$232,934.48

		SEC	CURITY SURVEILLANCE IMPROVEMENTS AT ROBERT GRAY ARMY AIRFIELD	UNIFIED SERVIC INC 2110 GREENE SOUTHLAKE,	C. BRIAR DRIVE
	ADDITIVE ALTERNATE 3 - ASR-11 SITE				
A3-1	1	EA	ELECTRICAL CIRCUIT FOR BUILDING MOUNTED NETWORK LOCATION, INSTALLED	\$2,735.85	\$2,735.85
A3-2	250	LF	NO. 10 AWG, STRANDED, 600V RATED, TYPE THHN/THWN-2 CABLE, INSTALLED IN DUCT BANK OR CONDUIT	\$0.87	\$217.50
A3-3	30	LF	RIGID GALVANIZED STEEL CONDUIT, 1-WAY 1"C, MOUNTED TO EXTERIOR STRUCTURE	\$20.72	\$621.60
A3-4	100	LF	NON-ENCASED ELECTRICAL CONDUIT, 1-WAY 2"C, INSTALLED	\$25.88	\$2,588.00
A3-5	1	EA	FIELD NETWORK SWITCH ENCLOSURE, INSTALLED	\$1,413.05	\$1,413.05
A3-6	500	LF	9/125 MICROMETER 12-STRAND SM INDOOR-OUTDOOR FIBER OPTIC CABLE, INSTALLED (SPOKE AND MID-RING)	\$7.50	\$3,750.00
A3-7	2	EA	WIRELESS NETWORK LOCATION, INSTALLED	\$16,721.11	\$33,442.22
A3-8	0	EA	CAMERA LOCATION TYPE C08F, INSTALLED	\$1,851.90	\$0.00
A3-9	1	EA	CAMERA LOCATION TYPE C09F, INSTALLED	\$1,929.94	\$1,929.94
SUBTO	AL - ADDITIV	E ALTERN	ATE 3 - ASR-11 SITE		\$46,698.16
			ADDITIVE ALTERNATE 4 - TRANSMITTER SITE	<u>'</u>	
A4-1	1	EA	ELECTRICAL CIRCUIT FOR BUILDING MOUNTED NETWORK LOCATION, INSTALLED	\$2,735.89	\$2,735.89
A4-2	500	LF	NO. 10 AWG, STRANDED, 600V RATED, TYPE THHN/THWN-2 CABLE, INSTALLED IN DUCT BANK OR CONDUIT	\$0.87	\$435.00
A4-3	30	LF	RIGID GALVANIZED STEEL CONDUIT, 1-WAY 1"C, MOUNTED TO EXTERIOR STRUCTURE	\$20.74	\$622.20
A4-4	130	LF	NON-ENCASED ELECTRICAL CONDUIT, 1-WAY 2"C, INSTALLED	\$25.88	\$3,364.40
A4-5	1	EA	FIELD NETWORK SWITCH ENCLOSURE, INSTALLED	\$1,252.39	\$1,252.39
A4-6	500	LF	9/125 MICROMETER 12-STRAND SM INDOOR-OUTDOOR FIBER OPTIC CABLE, INSTALLED (SPOKE AND MID-RING)	\$7.50	\$3,750.00
A4-7	1	EA	WIRELESS NETWORK LOCATION, INSTALLED	\$16,721.11	\$16,721.11
A4-8	0	EA	CAMERA LOCATION TYPE C08F, INSTALLED	\$1,851.90	\$0.00
A4-9	1	EA	CAMERA LOCATION TYPE C09F, INSTALLED	\$1,929.94	\$1,929.94
SUBTO	SUBTOTAL - ADDITIVE ALTERNATE 4 - TRANSMITTER SITE			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$30,810.93

	SECURITY SURVEILLANCE IMPROVEMENTS AT ROBERT GRAY ARMY AIRFIELD		UNIFIED SERVICES OF TEXAS, INC. 2110 GREENBRIAR DRIVE SOUTHLAKE, TEXAS 76092		
	,	ADDITIVE	ALTERNATE 5 - RGAAF SYSTEM MAINTENANCE AGREEMENT ALLOWANCE		
A5-1	1	LS	MAINTENANCE AGREEMENT ALLOWANCE (5 YEARS)	\$100,000.00	\$100,000.00
SUBTOT	TAL - ADDITIVI	E ALTERNA	ATE 5 - RGAAF SYSTEM MAINTENANCE AGREEMANT ALLOWANACE		\$100,000.00
			ADDITIVE ALTERNATE 6 - RGAAF WEST ENTRY POINT 1		
A6-1	50	LF	DIRECTIONAL BORING, 1-WAY 2"C POLYETHYLENE CONDUIT	\$36.10	\$1,805.00
A6-2	1	EA	ELECTRICAL CIRCUIT FOR BUILDING MOUNTED NETWORK LOCATION, INSTALLED	\$2,735.89	\$2,735.89
A6-3	100	LF	RIGID GALVANIZED STEEL CONDUIT, 1-WAY 1"C, MOUNTED TO EXTERIOR STRUCTURE	\$10.97	\$1,097.00
A6-4	250	LF	NON-ENCASED ELECTRICAL CONDUIT, 1-WAY 2"C, INSTALLED	\$25.88	\$6,470.00
A6-5	1	EA	FIELD NETWORK SWITCH ENCLOSURE, INSTALLED	\$1,252.39	\$1,252.39
A6-6	300	LF	9/125 MICROMETER 12-STRAND SM INDOOR-OUTDOOR FIBER OPTIC CABLE, INSTALLED (SPOKE AND MID-RING)	\$7.50	\$2,250.00
A6-7	1	EA	FIELD NETWORK SWITCH, 8-PORT, INSTALLED	\$1,015.45	\$1,015.45
A6-8	6	EA	CAMERA LOCATION TYPE CO4F, INSTALLED	\$1,929.94	\$11,579.64
SUBTOT	TAL - ADDITIVI	L E ALTERNA	L ATE 6 - RGAAF WEST ENTRY POINT 1	\$1,929.94	\$28,205.37
		,	ADDITIVE ALTERNATE 7 - RGAAF WEST ENTRY POINT 2 (GATE 19)		
A7-1	0	LF	NON-ENCASED ELECTRICAL CONDUIT, 1-WAY 2"C, INSTALLED	\$34.55	\$0.00
A7-2	0	LF	9/125 MICROMETER 12-STRAND SM INDOOR-OUTDOOR FIBER OPTIC CABLE, INSTALLED (SPOKE AND MID-RING)		·
A7-3	1	EA	CAMERA LOCATION TYPE C01F, INSTALLED	\$7.50	\$0.00
SUBTOT	TAL - ADDITIVI	L E ALTERNA	L ATE 7 - RGAAF WEST ENTRY POINT 2 (GATE 19)	\$1,929.94	\$1,929.94 \$1,929.94
			ADDITIVE ALTERNATE 8 - RGAAF EAST ENTRY POINT 1 (GATE 13)		
A8-1	50	LF	DIRECTIONAL BORING, 1-WAY 2"C POLYETHYLENE CONDUIT	\$36.10	\$1,805.00
A8-2	1	EA	ELECTRICAL CIRCUIT FOR BUILDING MOUNTED NETWORK LOCATION, INSTALLED	\$2,735.89	\$2,735.89
A8-3	100	LF	RIGID GALVANIZED STEEL CONDUIT, 1-WAY 1"C, MOUNTED TO EXTERIOR STRUCTURE	\$10.97	\$1,097.00
A8-4	1	EA	TRAFFIC-RATED, POLYMER CONCRETE HANDHOLE, INTERIOR DIMENSIONS 30"L x 17"W x 24"D	\$2,266.55	
A8-5	620	LF	NON-ENCASED ELECTRICAL CONDUIT, 1-WAY 2"C, INSTALLED		\$2,266.55
A8-6	1	EA	FIELD NETWORK SWITCH ENCLOSURE, INSTALLED	\$25.88	\$16,045.60
A8-7	690	LF	9/125 MICROMETER 12-STRAND SM INDOOR-OUTDOOR FIBER OPTIC CABLE, INSTALLED (SPOKE AND MID-	\$1,252.39	\$1,252.39
A8-8	1	EA	FIELD NETWORK SWITCH, 8-PORT, INSTALLED	\$7.50	\$5,175.00
A8-9	4		CAMERA LOCATION TYPE CO4F, INSTALLED	\$1,015.45	\$1,015.45
	TAL - ADDITIVI		ATE 8 - RGAAF EAST ENTRY POINT 1 (GATE 13)	\$1,929.94	\$7,719.76 \$39,112.64
			ADDITIVE ALTERNATE 9 - TEMPORARY FIELD OFFICE		
A9-1		LS	TEMPORARY FIELD OFFICE	A45 (35 35)	A =
	TAL - ADDITIVI		ATE 9 - TEMPORARY FIELD OFFICE	\$15,175.37	\$0.00 \$0.00
					Ψ0.0

SECURITY SURVEILLANCE IMPROVEMENTS AT ROBERT GRAY ARMY AIRFIELD	UNIFIED SERVICES OF TEXAS, INC. 2110 GREENBRIAR DRIVE SOUTHLAKE, TEXAS 76092		
BASE BID SUMMARY			
TOTAL BASE BID	\$3,529,123.97		

ADDITIVE ALTERNATE SUMMARY	
TOTAL ADDITIVE ALTERNATE 1A	
TOTAL ADDITIVE ALTERNATE 1B	
TOTAL ADDITIVE ALTERNATE 2	\$232,934.48
TOTAL ADDITIVE ALTERNATE 3	\$46,698.16
TOTAL ADDITIVE ALTERNATE 4	\$30,810.93
TOTAL ADDITIVE ALTERNATE 5	\$100,000.00
TOTAL ADDITIVE ALTERNATE 6	\$28,205.37
TOTAL ADDITIVE ALTERNATE 7	\$1,929.94
TOTAL ADDITIVE ALTERNATE 8	\$39,112.64
TOTAL ADDITIVE ALTERNATE 9	
TOTAL ALL ADDITIVE ALTERNATES	\$479,691.52
TOTAL BASE BIDE AND ALL ADDITIVE ALTERNATES	\$4,008,815.49